
Intégration par parties

‡ x lnHxL „ x

‡ x2 sinHxL „ x

‡ ‰x H1- xL „ x

‡ ‰2 x x „ x

‡ x2 lnHxL „ x

‡ H1+ xL cosHxL „ x

‡ ArcsinHxL „ x

‡ x2 cosH3 xL „ x

‡
lnHtL

t2
„ t

‡ x 1+ x „ x

‡ ‰x sinHxL „ x

‡ ‰1-x x „ x



† Solutions

‡ x lnHxL „ x =
1

2
x2 lnHxL-

x2

4
+ k

‡ x2 sinHxL „ x = 2 x sinHxL- Ix2-2M cosHxL + k

‡ ‰x H1- xL „ x = -‰x Hx-2L + k

‡ ‰2 x x „ x = ‰2 x
x

2
-

1

4
+ k

‡ x2 lnHxL „ x =
1

3
x3 lnHxL-

x3

9
+ k

‡ H1+ xL cosHxL „ x = cosHxL+ x sinHxL+ sinHxL + k

‡ ArcsinHxL „ x = x ArcsinHxL+ 1- x2 + k

‡ x2 cosH3 xL „ x =
2

9
x cosH3 xL+

1

27
I9 x2-2M sinH3 xL + k

‡
lnHtL

t2
„ t = -

lnHtL

t
-

1

t
+ k

‡ x 1+ x „ x =
2

15
Hx+1L3ê2 H3 x-2L + k

‡ ‰x sinHxL „ x =
1

2
‰x HsinHxL- cosHxLL + k

‡ ‰1-x x „ x = ‰-x H-‰ x-‰L + k
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